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1. Experiment:

An operation which can produce some well-defined outcomes is called an experiment.

2. Random Experiment:

An experiment in which all possible outcomes are know and the exact output cannot be predicted in advance, is

called a random experiment.
Examples:
i. Rolling an unbiased dice.
ii. Tossing a fair coin.
jii. Drawing a card from a pack of well-shuffled cards.

iv. Picking up a ball of certain colour from a bag containing balls of different colours.
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3. Sample Space;
When we perform an experiment, then the set S of all possible outcomes is called the sample space.
Examples:
1. In tossing a coin, S ={H, T}
2. If two coins are tossed, the 5 = {HH, HT, TH, TT}.
3. Inrolling a dice, we have, 5={1, 2, 3, 4, 5, 6}.
4. Event:

Any subset of a sample space is called an event.
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5. Probability of Occurrence of an Event:
Let S be the sample and let E be an event.

Then, E = 5.

L PE)y = %
6. Results on Probability:
L P(S) =1
L0 < P(E) =<1

iii. P(d) =0

iv. For any events Aand Bwe have - P(AU B)=FPA)+PB)-P(AM B

L ]

v. If A denotes (not-A), then P(A) = 1 - P{A).
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Tickeis numbered 1 to 20 are mixed up and then a ticket is drawn at random. Wwhat is the prol::al:-ilit'_-..r that the ticket

drawwn has a number which is a multiple of 3 or 57
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Answer: Oplion D

Explanation:

Here, S=4£1,2, 3. 4, . 19, 20}

Let E = event of getting a multiple of 3 or 5={3. 6 , 9. 12, 153, 18, 5, 10, 20}

ME) | 5

PE= G~ 20
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A bag cantalng 2 med, 3 grean and 2 Dl balls. Two balls are drawn al randcim, What B the probability that none of
ithe balls: drawn s blue™?
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Explanation: Lel E = Event of drawing 2 balks, none of which B bie,
Total number of balls = {2+ 3 +2)=T7. - BE] = Mumber of ways of (rawing 2 Dalls olf of {2 + 3) palls
Lel 5 be the 2ample space. = 5133
Then, A2} — HNumber of ways of drawing 2 balls out of 7 _ (BX4)
1)
— -I:'.E
= 400,
_(TxE)
2 x1) ME) _ 10
v By = et =
L T8
= 21
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In & box, there ara & rad, 7 blue and & gresen balle. Qe ball is picked up random by, What is the probabiiity that it is
neither reed Nor gres=n7v

& ;

H.E
o

answear QOption &

Explanation;

Total numiber of balis = (8 + 7 + 5) = Z1

et E = aevent that the Dall dranan is nelther red nor gresn

= @mvent that the Dall drawvers 1= Do

nlfEYy= 7.

A(E) 7 4
PUE) = ‘=L - D -
== hisy 21 3
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what is the probability of getting a sum 9 from two throws of a dice?

1
A S+
=
1
= ik
=
-1
e —_—
9
-
. —_—
12

Answer: Coption C

Explanation:

In two throws of a dice, A{S) = (6 x 6) = 36.

Let E = event of getting a sum ={({3, 6). (4. 5), (5, 4). (6. 3L

L . .
PR T Ty T B8 o
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Threse unbiased coins are tossed. What is the probability of getting at most bwo heads?

a0 E
4
B. 1
A
o, =2
&
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Answer: Crptiorn D

Explanaticon:

Here S = {TTT, TTH, THT, HTT. THH. HTH, HHT, HHH}
Let E = event of getting at most two heads.

Then E=41TTT, TTH, THT, AT T, THH, HTH, HEHT}.

i = S
e 8
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Twwo dice are Ihrown simultansoushy. What is the probability of getting two numbers whose product is even?

FILiz

:‘F. o,

-k ol Al M=
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Answer: Dption B

Explanaticon:
In a simuitanecus throw of two dice, we have n{S) = {6 X &) = 35

Then, E = ({1, 2), {1, 4). (1. B), (2, 1), (2. 2), (2, 3), (2. 4), (2, 5), {2, 6). (3, ), (3, 4),
(3. 6), (4, 1), (4, 2). (4, 3}, (4, 4). (4 §). (4, 8), (5. 2). (5. 4), {5.6). (8. 1),
(5, 2}, (5, 3}, (6, 4}, (5, 5}, {6, 5)}

n(E)= 27.
niEy _ 27 _ 3

PLE)=

sy 36 4

10/20
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Ina class, there are 18 boys and 10 gins. Three students are selected at mndom. The probabiity that 1 gird and 2
Doys @re selaected, is

et i E
B —
o, ==

An=wer: Option A

Explanation: - =
ME) =("Cqx VC2)
Let = ba the sample space and E e the event of seleciling 1 girl and 2 boys.

Then, n(3) = Number ways of selecting 3 students cut of 25 - [m i 1)
(2x1)
- 25c, -
= 1050,
_ (25 x 24 x23)
(3 xZ2x 1}
- pgy< DE) _ 1050 _ 2
= 2300 n(s) 2300

Fri
i
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In a lottery, there are 10 prizes and 25 blanks. A lottery is drawn at random. What is the probability of getting a

prize?
1
B o
10
2
B. —
5
2
- e,
Fi
3
3
7

Answer: Cption C

Explanation:

P (getting a prize) =

10 _ 1 _ 2
(10+25) 35 7
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From a pack of 52 cards, hwo cards are drawn logether at randam: What is the probability of both the cards Deing
. kings7
g
1
A, —
15
e 2B
57
c. 28
256
1
D.
221

Answer: Opllon D
Explanation:
Let S be the sample space.
52 (52 x 571 _
Theit, {S) = T = = 1326,
; TS 2 w13
Let E = event of getting 2 Kings out of 4.

s gy o o RIEDY

(Z2x 1%

. - dHE) & SR
PSS Tiel T Taoe T oo
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Tha dice are tossaed, The probbabhilihy that the Total Soore I1s a prinme numibaenr s
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Answer: Opton B

EXxplamnancomn:

Clesarly, Sy = (G K ) = 3G

Let E = Event that the surm s a1 prorme moomibe e,

Then E = { (1. 13 (71, 23, {1, 4%, (1, S, (2. Vi {2, F, (2, 5) (F, 2, (. 4) (4, 1), {4, ZF}
(5. 2). (5. 6). (6, 1) (5. B) }

i BE) = 16
ACED 15 s

=" FiEy = — e e e
EY= ais e e
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Aocard is drawn from a pack of 52 cards. The probability of getting a queen of club or a kKing of heart is:
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A_ (L
12
e
123
g
26
T 3
52

Answer: Option C

Explanation:

Here, n(3S) = 52,

Let E = event of getting a queen of club or a king of heart.
Then, (E)y=2.

" PIE}= ey _ 2 _ 1
T S 52 26"
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A bag contains 4 white, 5 red and & blus balls, Thres balls are drawven at randam from the bag The probability that
all of them are red, is;

“ =
e. 2

Answer: Option
Explanation:

Let S be the sample space. k
Let E = event of getting all the 3 red balls.

Then. (S} = number of ways of drawing 2 balls out of 15

(5x4)

1 n(E)=2c3=5¢c5= =
— Ay Ey="E3 @x1)
n(E 10 2
(152 14 % 13) F’{E}=Q=—=—.
(B KZX1) ns) 455 9

=455,
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Two cards are drawn together from a pack of 52 cards. The probability that one is a spade and one 15 a heart, is:

3
A —
20
.
34
gy
100
12
D. —
102

Let E = event of geting 1 spaxde and 1 heart.

_ - m{E) = nuember of ways of choosing 1 spade out of 13 and 1 heart cut of 13
Answer: Option D

=My x ey
Explanation:
=({13x13)
Let 5 be the sample space. o
52 x 51 .
Then, n(S) = 52c, = L2X9N) _ 45356 Tl o U
(2x1) miS) 1326 102
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One card is drawn at random from a pack of 52 cards. What is the probability that the card drawn is a face card
{Jack, Queen and King only)?

1
A, —
13
3
B. —
13
g 2
4
9
D —
H2

Answer: Oplion B
Explanation:

Clearly, there are 52 cards. out of which there are 12 face cards.

12 3
P (getting a face card) = — = —.
g g =y v
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A bag contains & black and 8 white balls. One ball is drawn at random. What is the probability that the ball drawn is

white?
R
4

B X
Fi

.-T

G_ ey
3

3

D_ e
i

Answer: Option B
Explanation:
Let number of balls = (6 + 8) = 14.

MNumber of white balls = 5.

8 4
P (drawing a white ball) = — = —.
14 7
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